

ABC Bid Data

STATEWIDE 42362 X-A004(823)

PROJECT: STATEWIDE

STATE PROJECT NUMBER: 42362

FED. PROJECT NUMBER: X-A004(823)

DATE BIDS OPEN:

September 12, 2019,

SCOPE OF WORK:

LOCATION:

Replacement and upgrade of signs and supports due to condition and improved

COMPLETION DATE:

September 18, 2020

Awarded To: SWETT, E. D. INC.

Amount:

Award Date:

8 INDUSTRIAL PARK DR

\$654,526.23

CONCORD, NH 03301-8512

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
SWETT, E. D. INC.	\$654,526.23	А
8 INDUSTRIAL PARK DR, CONCORD NH 03301-8512		
NORTHEAST TRAFFIC CONTROL SERV	\$660,048.27	В
8 SCOBEE CIRCLE, PO BOX 946, PLYMOUTH MA 02360-4889		
EVROKS CORPORATION	\$682,864.32	С
23 INDUSTRIAL DRIVE, NORTHFIELD NH 03276		

				F	°S&E	8 INDUSTE	, E. D. INC. RIAL PARK DR NH 03301-8512	8 SCOB	FIC CONTROL SERV EE CIRCLE MA 02360-4889
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	25.00	\$6.50	\$162.50	\$10.00	\$250.00	\$5.00	\$125.00
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00
203.11	COMMON EXCAVATION - LRS	CY	64.00	\$23.00	\$1,472.00	\$30.00	\$1,920.00	\$80.00	\$5,120.00
206.1	COMMON STRUCTURE EXCAVATION	CY	196.30	\$27.00	\$5,300.10	\$50.00	\$9,815.00	\$85.00	\$16,685.50
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$90.00	\$4,500.00	\$50.00	\$2,500.00	\$80.00	\$4,000.00
503.201	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$24,500.00	\$24,500.00	\$27,500.00	\$27,500.00
503.202	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$18,500.00	\$18,500.00	\$22,000.00	\$22,000.00
503.203	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$18,500.00	\$18,500.00	\$22,000.00	\$22,000.00
508.	STRUCTURAL FILL	CY	28.90	\$47.00	\$1,358.30	\$65.00	\$1,878.50	\$45.00	\$1,300.50
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$47,500.00	\$47,500.00
510.22	HIGH-STRAIN DYNAMIC TESTING	EA	3.00	\$5,000.00	\$15,000.00	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	66,356.00	\$0.70	\$46,449.20	\$0.63	\$41,804.28	\$0.67	\$44,458.52
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	16.00	\$185.00	\$2,960.00	\$200.00	\$3,200.00	\$150.00	\$2,400.00
510.9	PILE SPLICES	EA	10.00	\$175.00	\$1,750.00	\$500.00	\$5,000.00	\$250.00	\$2,500.00
520.2	CONCRETE CLASS B	CY	63.70	\$450.00	\$28,665.00	\$500.00	\$31,850.00	\$700.00	\$44,590.00
544.1	REINFORCING STEEL (ROADWAY)	LB	5,310.00	\$2.50	\$13,275.00	\$2.00	\$10,620.00	\$2.90	\$15,399.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$530.00	\$1,060.00	\$1,000.00	\$2,000.00	\$1,250.00	\$2,500.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$24.00	\$1,200.00	\$35.00	\$1,750.00	\$38.50	\$1,925.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	300.00	\$32.00	\$9,600.00	\$40.00	\$12,000.00	\$70.00	\$21,000.00
614.523	MOLDED PULL BOX 17"X30"	EA	1.00	\$550.00	\$550.00	\$1,000.00	\$1,000.00	\$2,200.00	\$2,200.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	280.00	\$20.00	\$5,600.00	\$35.00	\$9,800.00	\$47.00	\$13,160.00
615.0401	TRAFFIC SIGN TYPE AA	SF	981.50	\$35.00	\$34,352.50	\$27.50	\$26,991.25	\$23.50	\$23,065.25
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	2.00	\$350.00	\$700.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
615.20001	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$39,500.00	\$39,500.00
615.20002	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$39,500.00	\$39,500.00
615.20003	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$38,500.00	\$38,500.00
615.20301	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
615.20302	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
615.20303	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
615.30001	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00

					PS&E	8 INDUST	Γ, E. D. INC. RIAL PARK DR , NH 03301-8512	NORTHEAST TRAFFIC CONTROL SERV 8 SCOBEE CIRCLE PLYMOUTH, MA 02360-4889	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.30002	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00
615.30003	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00
615.30004	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00
615.303	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$2,500.00	\$10,000.00	\$3,500.00	\$14,000.00	\$2,500.00	\$10,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
618.7	FLAGGERS	HR	30.00	\$33.00	\$990.00	\$40.00	\$1,200.00	\$35.00	\$1,050.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00
621.31	SINGLE DELINEATOR WITH POST	EA	2.00	\$45.00	\$90.00	\$50.00	\$100.00	\$40.00	\$80.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	300.00	\$4.50	\$1,350.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
645.531	SILT FENCE	LF	500.00	\$3.00	\$1,500.00	\$3.50	\$1,750.00	\$2.50	\$1,250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	383.10	\$8.00	\$3,064.80	\$12.00	\$4,597.20	\$45.00	\$17,239.50
692.	MOBILIZATION	U	1.00	\$5,000.00	\$5,000.00	\$70,000.00	\$70,000.00	\$40,000.00	\$40,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$4,180.00	\$4,180.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

Totals:	\$596,629.40	\$654,526.23	\$660,048.27
Alt. Totals:			
Totals:	\$596,629.40	\$654,526.23	\$660,048.27

				F	°S&E	23 INDUS	ORPORATION TRIAL DRIVE LD, NH 03276		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

REMOVAL OF LIGHT POLE U									
	202.7	REMOVAL OF GUARDRAIL	LF	25.00	\$6.50	\$162.50	\$26.00	\$650.00	
200.1 COMMON STRUCTURE EXCAVATION CY 196.30 \$27.00 \$5,500.10 \$72.00 \$14,133.20	202.843	REMOVAL OF LIGHT POLE	U	1.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	
COMMON STRUCTURE EXCAVATION EXPLORATORY	203.11	COMMON EXCAVATION - LRS	CY	64.00	\$23.00	\$1,472.00	\$44.00	\$2,816.00	
10	206.1	COMMON STRUCTURE EXCAVATION	CY	196.30	\$27.00	\$5,300.10	\$72.00	\$14,133.60	
100,202 COFFERDAMS	206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$90.00	\$4,500.00	\$110.00	\$5,500.00	
Section Company Comp	503.201	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$34,000.00	\$34,000.00	
\$10.0 STRUCTURAL FILL CY 28.90 \$47.00 \$13.58.00 \$113.00 \$3.265.70 \$10.1 PILE DRIVING EQUIPMENT U 1 1.00 \$73.00.00 \$75.00.00 \$42.10.00 \$42.10.00 \$10.22 HIGH-STRAIN DYNAMIC TESTING EA 3.00 \$8.00.00 \$15.00.00 \$45.00.00 \$15.00.00 \$42.10.00 \$10.	503.202	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$29,000.00	\$29,000.00	
File Driving Equipment U	503.203	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$29,000.00	\$29,000.00	
HIGH-STRAIN DYNAMIC TESTING	508.	STRUCTURAL FILL	CY	28.90	\$47.00	\$1,358.30	\$113.00	\$3,265.70	
FURNISHING & DRIVING STEEL BEARING PILES LB 66,356.00 \$0.70 \$46,449.20 \$0.67 \$44,456.52 \$10.65 DRIVING-POINTS FOR STEEL BEARING PILES EA 16.00 \$185.00 \$2,960.00 \$150.00 \$2,400.00 \$10.9 PILE SPLICES EA 10.00 \$175.00 \$175.00 \$50.00 \$50.00 \$38.220.00 \$20.2 CONCRETE CLASS B CY 63.70 \$450.00 \$28,865.00 \$600.00 \$38.220.00 \$38.220.00 \$44.148.62	510.1	PILE DRIVING EQUIPMENT	U	1.00	\$75,000.00	\$75,000.00	\$42,100.00	\$42,100.00	
STORY STEEL BEARING PILES EA 16.00 \$185.00 \$2,860.00 \$150.00 \$2,400.00 \$150.90	510.22	HIGH-STRAIN DYNAMIC TESTING	EA	3.00	\$5,000.00	\$15,000.00	\$4,500.00	\$13,500.00	
Fig. 2002 PILE SPLICES EA 10.00 \$175.00 \$175.00 \$50.	510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	66,356.00	\$0.70	\$46,449.20	\$0.67	\$44,458.52	
Section Concrete Class Concrete Cl	510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	16.00	\$185.00	\$2,960.00	\$150.00	\$2,400.00	
Selection Sele	510.9	PILE SPLICES	EA	10.00	\$175.00	\$1,750.00	\$50.00	\$500.00	
BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL U 2.00 \$530.00 \$1,060.00 \$850.00 \$1,700.00	520.2	CONCRETE CLASS B	CY	63.70	\$450.00	\$28,665.00	\$600.00	\$38,220.00	
POST)	544.1	REINFORCING STEEL (ROADWAY)	LB	5,310.00	\$2.50	\$13,275.00	\$2.50	\$13,275.00	
Section Street	606.127		U	2.00	\$530.00	\$1,060.00	\$850.00	\$1,700.00	
Bit	606.18001		LF	50.00	\$24.00	\$1,200.00	\$25.00	\$1,250.00	
614.73114 3" PVC CONDUIT, SCHEDULE 40 LF 280.00 \$20.00 \$5.600.00 \$12.50 \$3,500.00 \$10.	606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	300.00	\$32.00	\$9,600.00	\$23.00	\$6,900.00	
615.0401 TRAFFIC SIGN TYPE AA SF 981.50 \$35.00 \$34,352.50 \$35.00 \$34,352.50 \$ 615.043 REMOVING TRAFFIC SIGN TYPE AA U 2.00 \$350.00 \$700.00 \$2,000.00 \$4,000.00 \$ 615.2001 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,500.00 \$45,500.00 \$ 615.2002 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,200.00 \$45,200.00 \$ 615.2003 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,200.00 \$45,200.00 \$ 615.20301 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20302 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 SEMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 SEMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$ 615.20303 SEMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	614.523	MOLDED PULL BOX 17"X30"	EA	1.00	\$550.00	\$550.00	\$500.00	\$500.00	
Section Cantilever traffic sign structure U	614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	280.00	\$20.00	\$5,600.00	\$12.50	\$3,500.00	
615.20001 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,500.00 \$45,500.00 \$45,200.00 \$45,	615.0401	TRAFFIC SIGN TYPE AA	SF	981.50	\$35.00	\$34,352.50	\$35.00	\$34,352.50	
615.20002 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,200.00 \$45,	615.043	REMOVING TRAFFIC SIGN TYPE AA	U	2.00	\$350.00	\$700.00	\$2,000.00	\$4,000.00	
615.20003 CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$40,000.00 \$40,000.00 \$45,200.00 \$45,	615.20001	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$45,500.00	\$45,500.00	
615.20301 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$615.20302 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	615.20002	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$45,200.00	\$45,200.00	
615.20302 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00 \$615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00	615.20003	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$45,200.00	\$45,200.00	
615.20303 REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE U 1.00 \$4,000.00 \$4,000.00 \$5,000.00 \$5,000.00	615.20301	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	
	615.20302	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	
615.30001 BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE U 1.00 \$15,000.00 \$15,000.00 \$15,000.00	615.20303	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	
	615.30001	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	

				1	PS&E	23 INDUS	CORPORATION STRIAL DRIVE ELD, NH 03276		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.30002	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		
615.30003	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00		
615.30004	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		
615.303	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00		
618.7	FLAGGERS	HR	30.00	\$33.00	\$990.00	\$35.00	\$1,050.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$23,000.00	\$23,000.00		
621.31	SINGLE DELINEATOR WITH POST	EA	2.00	\$45.00	\$90.00	\$50.00	\$100.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	300.00	\$4.50	\$1,350.00	\$6.00	\$1,800.00		
645.531	SILT FENCE	LF	500.00	\$3.00	\$1,500.00	\$4.00	\$2,000.00		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	383.10	\$8.00	\$3,064.80	\$30.00	\$11,493.00		
692.	MOBILIZATION	U	1.00	\$5,000.00	\$5,000.00	\$65,000.00	\$65,000.00		
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$4,180.00	\$4,180.00	\$3,500.00	\$3,500.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00		
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		

Totals:	\$596,629.40	\$682,864.32	
Alt. Totals:			
Totals:	\$596,629.40	\$682,864.32	



PS&E Comparison

\$TATEWIDE 42362 X-A004(823)

				A-Bide	der	PS8	ŁΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	25.00	\$10.00	\$250.00	\$6.50	\$162.50	\$87.50
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,000.00
203.11	COMMON EXCAVATION - LRS	CY	64.00	\$30.00	\$1,920.00	\$23.00	\$1,472.00	\$448.00
206.1	COMMON STRUCTURE EXCAVATION	CY	196.30	\$50.00	\$9,815.00	\$27.00	\$5,300.10	\$4,514.90
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$50.00	\$2,500.00	\$90.00	\$4,500.00	(\$2,000.00)
503.201	COFFERDAMS	U	1.00	\$24,500.00	\$24,500.00	\$30,000.00	\$30,000.00	(\$5,500.00)
503.202	COFFERDAMS	U	1.00	\$18,500.00	\$18,500.00	\$30,000.00	\$30,000.00	(\$11,500.00)
503.203	COFFERDAMS	U	1.00	\$18,500.00	\$18,500.00	\$30,000.00	\$30,000.00	(\$11,500.00)
508.	STRUCTURAL FILL	CY	28.90	\$65.00	\$1,878.50	\$47.00	\$1,358.30	\$520.20
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00	(\$25,000.00)
510.22	HIGH-STRAIN DYNAMIC TESTING	EA	3.00	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00	(\$4,500.00)
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	66,356.00	\$0.63	\$41,804.28	\$0.70	\$46,449.20	(\$4,644.92)
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	16.00	\$200.00	\$3,200.00	\$185.00	\$2,960.00	\$240.00
510.9	PILE SPLICES	EA	10.00	\$500.00	\$5,000.00	\$175.00	\$1,750.00	\$3,250.00
520.2	CONCRETE CLASS B	CY	63.70	\$500.00	\$31,850.00	\$450.00	\$28,665.00	\$3,185.00

544.1	REINFORCING STEEL (ROADWAY)	LB	5,310.00	\$2.00	\$10,620.00	\$2.50	\$13,275.00	(\$2,655.00)
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$1,000.00	\$2,000.00	\$530.00	\$1,060.00	\$940.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$35.00	\$1,750.00	\$24.00	\$1,200.00	\$550.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	300.00	\$40.00	\$12,000.00	\$32.00	\$9,600.00	\$2,400.00
614.523	MOLDED PULL BOX 17"X30"	EA	1.00	\$1,000.00	\$1,000.00	\$550.00	\$550.00	\$450.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	280.00	\$35.00	\$9,800.00	\$20.00	\$5,600.00	\$4,200.00
615.0401	TRAFFIC SIGN TYPE AA	SF	981.50	\$27.50	\$26,991.25	\$35.00	\$34,352.50	(\$7,361.25)
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	2.00	\$500.00	\$1,000.00	\$350.00	\$700.00	\$300.00
615.20001	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00
615.20002	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00
615.20003	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00
615.20301	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$2,000.00
615.20302	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$2,000.00
615.20303	REMOVING CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$2,000.00
615.30001	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$5,000.00
615.30002	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$5,000.00
615.30003	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$5,000.00
615.30004	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$5,000.00
615.303	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$3,500.00	\$14,000.00	\$2,500.00	\$10,000.00	\$4,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
618.7	FLAGGERS	HR	30.00	\$40.00	\$1,200.00	\$33.00	\$990.00	\$210.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$15,000.00
621.31	SINGLE DELINEATOR WITH POST	EA	2.00	\$50.00	\$100.00	\$45.00	\$90.00	\$10.00

Thursday, September 19, 2019

645.512	COMPOST SOCK FOR PERIMETER BERM	LF	300.00	\$5.00	\$1,500.00	\$4.50	\$1,350.00	\$150.00
645.531	SILT FENCE	LF	500.00	\$3.50	\$1,750.00	\$3.00	\$1,500.00	\$250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	383.10	\$12.00	\$4,597.20	\$8.00	\$3,064.80	\$1,532.40
692.	MOBILIZATION	U	1.00	\$70,000.00	\$70,000.00	\$5,000.00	\$5,000.00	\$65,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$2,500.00	\$2,500.00	\$4,180.00	\$4,180.00	(\$1,680.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total: \$654,526.23 \$596,629.40 \$57,896.83

Thursday, September 19, 2019 Page 8 of 8